Practice 2-5

Form K
5 b0 < N
Dividing Polynomials
Divide using long division. Check your answers.
1. (2x2+7x—5)+ (x+1)
To start, divide —23cx£ =2x 2x
Then, multiply 2x(x + 1) = 2x% + 2x. x+1)2x7+7x—5
2x2 + 2x
2. (B3 +x2—14x—27)+ (x+3) 3. (2x3 +13x2 + 16x + 5) + (x + 5)
4. (x2+9x+22)+ (x+2) 5. (6x%+4x—16) =+ (2x—2)
6. (8x° +18x2 +7x—3) + (4x— 1) 7. (12x% + 18x — 17) + (6x — 3)

Determine whether each binomial is a factor of x3 — 3x2 — 4x.

8. x—4 9. x+2
10. x— 3 1. x+1

Determine whether each binomial is a factor of x3 — 9x2 + 15x + 25.

12. x—2 13. x+1

14. x—5 15. x—3

Scanned with CamScanner



